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P roperties of Civcles -
\ L ot centre = L L ot circumterence

A &

8 centre of circle -

;) 438 in +the same seﬁmen—}

3) 43 e opp. seqment

Lo+ Lb = 180°
LC + Ld = lgo”
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4) Right £ in semicivcle
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ie the certre of cirde.
AB is 4he diameter of circle.

Tangerﬁ 1 Radius

@/ AY

O 8 the certre of cirde.
AB is +he +angert of circle.

6) Equal tangent $om external pont

AR =
L0AB = LBCO=490°

O 8 the centre of cirde.
AB ond &C are the dangent of cirde.
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YOUR MATH COMPANION

;L) 1 bisector of chord

. If AM = MB y +hen LOBquOa

. If L0BM=Q0°, 4nen AM =MB.

A

O i8¢ the centre of cirde.
AB s tve chavd.

8) Equal Chords
D

. If AB=(D, then OM=0N-

- If OM=ON, +hen AB=CD.

)
A

0O 8 the certre of cirde.
AB is e chovd.
cD is ine cword.



